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Math 12 Honours: Section 5.3 Solving Logarithmic Equations with Identities

1. Solve for “x” and state all the extraneous roots: Show your work:
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2. Solve for “x”: log, b+log_, b =log , b*
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3. Solve for “x”: log, x—log, 16—g—logx8 [Euclid]
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4. Determine all value(s) of “x” that satisfy the equation (find all the extraneous roots) [euclid] "

log,, ., (X* +6x+9)+log,., (55')(2 + 24X+ %7) =4

gz = (w2 =
\ooq "€ @2~

\0%” (rl+3\ + (oj A b(ncﬁx':’«d) =4 A= IA=8
2oy ), by Eq T s
00 g t Lt 09, K +3= a9 A 4bnr o= Siug

1( :rﬁg M %&;{):
Lor log e4s)-A A =21=>2K@= 38
Lew “’3 SuidkB %_* {_ 2A%- 348+ 8%=0

A-9(2r-8)=0

Gz = A4z
4


Highlight

Highlight


5. If log, x, (1+log, x), log, 4xare consecutive terms of a geometric sequence, determine the
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9. Challenge: Given the two equations, find the value of “N” 20 ame
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10. Determine the number of ordered pairs (a,b) of integers such that log, b+6log, a=>5, with
2<a<2005,and 2<b<2005. zosame

(\B-QA)(G “3A)=0
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